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Math 1312 Test 2 Review Questions

Test 2 covers chapters 3 and 4 from the textbook.
How to study: Study the class notes, review homework problems, and try to do as many
exercises as you can from the textbook. Note that answers are provided at the back of the book to

all odd numbered problems.
You need to know what definitions mean and theorems and postulates as facts but you do not

need to memorize them word by word.
Here | provide some examples for you. This is not a complete list, studying only these examples

is not enough!

1. Itis given that AA& = AD&)‘.

a) If mszA = 37° and msE = 68°, find msF.
b) If AB =7.3cm, BC = 4.7cm, and AC = 6.3cm, find EF.

Q> me =120 - D1- 68 = —‘50

L) EF = Q;C_:}-l.—lcrf\

a) Use ONLY the given information to state the reason why AABC = ADBC.
2A=¢D, 2ABC = «DBC, and BC = BC (ldentity). (V2
b) What additional parts needed to prove AABC = ADBC by ASA if we know that

2A = ¢D and £ABC = £DBC?
a> AAS
D Ab=Tg

C




3. Given AABC with AB = BC and m«C = 69°, find m£A. Draw a picture!

&

™ < ‘I\= el = 6q°

k c

4. Given AABC with AB = BC and m«B = 40° , find m«£A. Draw a picture!

> A= EO-NO
™<= > =

Q

1O

(S~

b

5. Given AABC with AB = BC, and M is the midpoint of AB. Find the perimeter of AABC,
if AM = 10 and AC = 5. Draw a picture!

s A = 200> =20
'ZR 20 P(b‘&\%\"ZO*lD«-ér-hg

6. The measures of two sides of a triangle are 3 and 4. Between what two numbers must the
measure c;f(the third side fall?

]_\_?) £ X < 4>

\ 2 x <"1




7. ls it possible to draw a triangle those sides measure

a) 8,9,10? q33+q > O YES
b) 8,9, 177

98918 3y Z1q A\ ND

S  24q Az NO

a8 MaT>q YES

8. In AABC, msA = 70° and msB = 45°.
a) s it true that AB is the longest side of that triangle?
b) Write an extended inequality that compares the lengths of the sides of AABC.

a> W2 C = g0 - 10- 45 = o°
ND, AB e the widdle side

b [BC>AR> AC

RC < KB < BC
9. AD =3,DC = 4.Find the length of the diagonal BD. A®SC N =

L

B Q \"echa ha\e_
>

e Bbh= glk‘“«bl —~§;_%=5

10. m£DAX = 30°. Find the measure of angle DCA.
M cOCK= Q0 -20 = &5°



11. State whether each statement is Always True, Sometimes True, or Never True.

12.

13.

a)
b)
c)
d)
€)
f)
9)
h)
i)
)
K)

A square is a rectangle. k N

If two of the angles of a trapezoid are congruent, then the trapezoid is isosceles.

=Y
The diagonals of a trapezoid bisect each oltge_r.r ﬁ &

The diagonals of a parallelogram are perpendicular. =7 ( squox=

A rectangle is a square. <\ \"‘I\QMBMB

The diagonals of a square are perpendicular. k ‘Y (4 LI)

. \20
Two consecutive angles of a parallelogram are supplementary.

_ AN
Opposite angles of a rhombus are congruent. T

rhombuws is Q\waﬂs. a ‘:o.ra\\.

The diagonals of a rectangle are congruent. J\

-y
The four sides of a kite a congruent. N\ "\ Q

The diagonals of a parallelogram bisect each other.

NV

Which of the following congruency principal(s) do NOT exist?
AAL= ASA= AAS= SSS= SAS= S/%(z

Find the length of the median of a trapezoid if its upper base is 30 and the length of the
lower base is 6 more, than twice the length of the upper base.

m—-_&?__('bo+e,e> =4%

L

—
o

——t

9.(5;3 +6= 66



uAh AC > 3B

14. In an isosceles triangle ABC, AD is an altitude. Find m<C.

m/CAD = (9x - 27)° | ~ .
. - L CADY —BAD
AN =2 = 2y 2 \:»\ @l ~Yalural
Ex27=3 m <2 CAD> = q(y -21=q°
6“: i“ < CAR =20 =&

meC = t%\h 2\°

15. In a rhombus MATH with diagonals MT and AH, m«MHT = 30°. Find m£AHT
and m£ATH.

" . Mm<AHT= —\?:(mz-m-\"\
“—%3_(9;&4\6"

T < ATH= /80~ m o MuT
= /2D -20 - /50°




16. Find the measures of the remaining angles of trapezoid ABCD with AB parallel to DC, if

msB = 63° and msD = 118°.

B AN\ 2
%%R

\

5 . c

17. Complete the following proof:

MmMaeC =120 -6b2x = |7°
mekhk=1%20-11x= 2°

Given: rectangle MNPQ with diagonals MP and NQ.

Prove: MP = NQ

PROOF

Statements

Reasons

1. A MAPQ with
&Gﬁpm\s (S 2—@

L Glen

2. MNPQ is a parallelogram

2. Def of a re;:‘cﬂh&\e.

3. O . o~ 3. Opposite sides of a parallelogram are
M N = ' congruent

4, T~ N = 4. Identity
MQ = MQ

5. 2NMQ and 2PQM are right angles

> beq: 0'(‘\ Qa t“ec:t‘c.\hQ\Q

 ZNMQ & 2PQM

6. All right angles are congruent

8 cPcTc

\BOF‘:e»r \

= A=



